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QUESTION 1

During a design workshop for a stretched vSAN cluster, the requirement that some of the VMs be configured with no-
mirror between sites was discussed. 

Which three recommendations should the architect provide to address an event of a network partition between two
sites? (Choose three.) 

A. Host isolation response must exclude the VMs required 

B. The default gateway must be used as the only isolation address 

C. One of isolation addresses should reside in the site 1 data center 

D. VMware vSphere DRS rules to force the VMs to run where the data resides 

E. One isolation address reachable only from the witness appliance in both sites 

F. One of isolation addresses should reside in the site 2 data center 

Correct Answer: ADF 

 

 

QUESTION 2

An administrator is tasked with preparing for a Cross vCenter migration in a stretched vSAN cluster where the virtual
machines migration will be orchestrated via VMware Site Recovery Manager. 

Which action should the administrator take so the migration is successful? 

A. Disable vSAN Deduplication and Compression 

B. Reconfigure vCenter HA Admission control 

C. Enable vCenter Single Sign-On Enhanced Linked Mode 

D. Make sure that Witness traffic is on the management NIC. 

Correct Answer: C 

Reference: https://docs.vmware.com/en/Site-Recovery-
Manager/8.4/com.vmware.srm.admin.doc/GUIDB64096E8-F49A-4BF6-92CE-05FBA972F3C0.html 

 

QUESTION 3

An administrator has received an alert indicating that a single capacity device is close to failing within the production
vSAN Cluster. The administrator must now complete preemptive maintenance on the vSAN Cluster without impacting
the availability of workloads or vSAN File Services. 

The following information is known about the vSAN Cluster: vSAN 7.x Cluster vSAN node count: 8 De-Duplication and
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Compression: Enabled. Encryption: Disabled Current Utilization: 45% Disk Groups: 2 Devices per node: 2 x 400 GB
SSD, 6 x 1.8 TB SSD 

Which three steps should the administrator take to successfully complete the task? (Choose three.) 

A. Remove the affected Disk Group from the vSAN Cluster, and choose Full Data Migration. 

B. Replace the failed disk with a storage device that is identical in class and capacity. 

C. Remove the affected Disk Group from the vSAN Cluster, and choose No Data Migration. 

D. Replace the failed disk with a storage device that is identical in class but smaller in capacity. 

E. Put the affected vSAN host into maintenance mode to physically replace the storage device. 

F. Remove the affected Disk from the Disk Group, and choose Full Data Migration. 

Correct Answer: ABF 

 

 

QUESTION 4

In a vSAN stretched cluster, which value must be set in the vSAN policy if there is no requirement for data mirroring
across sites? 

A. SFTT = 0 

B. SFTT = 1 

C. PFTT = 1 

D. PFTT = 0 

Correct Answer: A 

Reference: https://www.delltechnologies.com/asset/en-us/products/converged-
infrastructure/technicalsupport/h15275-vxrail-planning-guide-virtual-san-stretched-cluster.pdf (5) 

 

QUESTION 5

A customer is planning to deploy a vSAN cluster to host their in-house distributed ERP system. The hardware
specifications for their server nodes include: 

2 x Intel Xeon CPU E5-2697 v3 @ 2.60GHz 1TB memory 

Which boot device is supported for the vSAN ESXi nodes for this customer? 

A. A 16GB single-level cell (SLC) SATADOM device must be used. 

B. A 4GB USB or SD device must be used. 

C. A 16GB multiple-level cell (MLC) SATADOM device must be used. 
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D. ESXi Hosts must boot from a PMEM device. 

Correct Answer: C 
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